BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MAY 1, 2024 LJA ENGINEERING, INC. S. YOUNG MAY 1, 2024

1931-9021D (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE NO. 1 ITEMS	BID INCLUDING ALTERNATE NO. 2 ITEMS
1) DIMAS BROS. CONSTRUCTION	\$884,000.00	\$2,065,453.25	\$790,062.90
2) HURTADO CONSTRUCTION COMPANY	\$898,559.06	\$2,004,424.70	\$819,320.06
3) R CONSTRUCTION CIVIL, LLC	\$1,050,642.20	\$2,222,804.25	\$932,382.20
4) CROSTEX CONSTRUCTION INC.	\$1,060,000.00	\$2,504,000.00	\$936,022.00

CALENDAR DAYS 45/60



I, CLAYTON WEISHUHN, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 23 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

S. YOUNG MAY 1, 2024 1931-9021D (9.2)

			1) DIMAS BROS. CO	ONSTRUCTION	2) HURTADO CONSTRUCTION COMPANY		3) R CONSTRUCTI	ON CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS								
1 16" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2278	\$90.35	\$205,817.30	\$83.00	\$189,074.00	\$85.00	\$193,630.00
2 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	911	\$43.50	\$39,628.50	\$40.00	\$36,440.00	\$40.00	\$36,440.00
3 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	20	\$35.50	\$710.00	\$24.38	\$487.60	\$30.00	\$600.00
4 16" PVC MECHANICAL RESTRAINED JOINT WATER LINE, C-900, DR 18, CL 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	110	\$205.00	\$22,550.00	\$230.00	\$25,300.00	\$250.00	\$27,500.00
5 TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3077	\$1.00	\$3,077.00	\$0.18	\$553.86	\$0.10	\$307.70
6 16" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	5	\$9,200.00	\$46,000.00	\$9,935.00	\$49,675.00	\$11,550.00	\$57,750.00
7 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	5	\$1,610.00	\$8,050.00	\$1,888.00	\$9,440.00	\$2,000.00	\$10,000.00
8 6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,084.00	\$1,084.00	\$1,348.00	\$1,348.00	\$1,400.00	\$1,400.00
9 FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$8,075.00	\$56,525.00	\$7,000.00	\$49,000.00	\$7,150.00	\$50,050.00
10 8" PLUG AND CLAMP, COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$348.00	\$348.00	\$220.00	\$220.00
11 6" PLUG AND CLAMP, COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$328.00	\$328.00	\$1,660.00	\$1,660.00
12 2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$1,984.00	\$3,968.00	\$1,868.00	\$3,736.00	\$1,250.00	\$2,500.00
13 DRY AUGER FOR 16" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	139	\$41.00	\$5,699.00	\$135.00	\$18,765.00	\$275.00	\$38,225.00
14 26" STEEL CASING FOR 16" WATER LINE (EXCLUDES CARRIER PIPE), (INCLUDES CEMENT STABILIZED SAND), COMPLETE IN PLACE	S LF	139	\$144.00	\$20,016.00	\$188.00	\$26,132.00	\$190.00	\$26,410.00
15 DRY AUGER FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	103	\$10.00	\$1,030.00	\$130.00	\$13,390.00	\$195.00	\$20,085.00
16 16" STEEL CASING FOR 8" WATER LINE (EXCLUDES CARRIER PIPE), (INCLUDES CEMENT STABILIZED SAND), COMPLETE IN PLACE	LF	103	\$58.00	\$5,974.00	\$145.00	\$14,935.00	\$78.00	\$8,034.00
17 WET CONNECTION OF PROPOSED 16" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,600.00	\$3,200.00
18 WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$584.00	\$1,752.00	\$1,000.00	\$3,000.00	\$300.00	\$900.00
19 REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$500.00	\$500.00	\$150.00	\$150.00
WATER ITEMS SUBTOTAL:				\$425,414.80		\$444,452.46		\$479,061.70
DRAINAGE FACILITIES ITEMS								
1 24" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1012	\$90.00	\$91,080.00	\$78.00	\$78,936.00	\$78.00	\$78,936.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG MAY 1, 2024 1931-9021D (9.2)

<u></u>			1) DIMAS BROS. Co	ONSTRUCTION	2) HURTADO CONSTRI	UCTION COMPANY	3) R CONSTRUCT	ION CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 30" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	708	\$108.00	\$76,464.00	\$101.00	\$71,508.00	\$100.00	\$70,800.00
3 36" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	87	\$145.00	\$12,615.00	\$153.00	\$13,311.00	\$135.00	\$11,745.00
4 72" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	121	\$598.00	\$72,358.00	\$580.00	\$70,180.00	\$620.00	\$75,020.00
5 30" CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	82	\$104.00	\$8,528.00	\$138.00	\$11,316.00	\$105.00	\$8,610.00
6 42" CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	87	\$188.00	\$16,356.00	\$178.00	\$15,486.00	\$170.00	\$14,790.00
7 72" CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	99	\$280.00	\$27,720.00	\$285.00	\$28,215.00	\$380.00	\$37,620.00
8 TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2155	\$1.00	\$2,155.00	\$1.00	\$2,155.00	\$0.10	\$215.50
9 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$5,000.00	\$60,000.00	\$4,048.00	\$48,576.00	\$3,500.00	\$42,000.00
10 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS. ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$6,784.00	\$13,568.00	\$13,800.00	\$27,600.00	\$14,000.00	\$28,000.00
11 STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$1,135.00	\$13,620.00	\$1,148.00	\$13,776.00	\$1,175.00	\$14,100.00
12 STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$1,635,00	\$19,620.00	\$1,588.00	\$19,056.00	\$2,750.00	\$33,000.00
13 5" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	112	\$105.00	\$11,760.00	\$98.00	\$10,976.00	\$155.00	\$17,360.00
14 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$1,500.00	\$4,500.00	\$2,500.00	\$7,500.00	\$6,500.00	\$19,500.00
15 8" BRICK PLUG FOR 72" RCP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$184.00	\$184.00	\$300.00	\$300.00	\$975.00	\$975.00
16 VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER) COMPLETE IN PLACE	LF	2196	\$1.00	\$2,196.00	\$1.00	\$2,196.00	\$3.75	\$8,235.00
17 ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$0.50	\$500.00	\$1.00	\$1,000.00	\$15.00	\$15,000.00
18 DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$0.50	\$500.00	\$1.00	\$1,000.00	\$25.00	\$25,000.00
19 REMOVE AND OFFSITE DISPOSAL OF EXISTING 24" STORM SEWER 8" BRICK WALL PLUG, COMPLETE IN PLACE	EA	2	\$384.00	\$768.00	\$2.00	\$4.00	\$300.00	\$600.00
20 DRY AUGER FOR 24" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	41	\$10.00	\$410.00	\$168.00	\$6,888.00	\$165.00	\$6,765.00
DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$434,902.00		\$429,979.00		\$508,271.50

Page 3 of 11 FRN F-1386
LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

COMPLETE IN PLACE

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

20/1002 110								
			1) DIMAS BROS. 0	CONSTRUCTION	2) HURTADO CONSTR	RUCTION COMPANY	3) R CONSTRUCT	TION CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	10920	\$0.10	\$1,092.00	\$0.58	\$6,333.60	\$2.20	\$24,024.00
2 INSTALL AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00
3 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUD GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LIS IN THE BID PROPOSAL, COMPLETE IN PLACE		1	\$302.20	\$302.20	\$800.00	\$800.00	\$2,500.00	\$2,500.00
4 INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	2	\$250.00	\$500.00	\$300.00	\$600.00	\$600.00	\$1,200.00
5 ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MA (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN F		14	\$1.00	\$14.00	\$1.00	\$14.00	\$150.00	\$2,100.00
6 INLET PROTECTION BARRIER FOR STAGE II INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	12	\$10.00	\$120.00	\$1.00	\$12.00	\$55.00	\$660.00
7 HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,150.00	\$4,300.00
8 EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$1.00	\$100.00	\$4.00	\$400.00	\$40.00	\$4,000.00
9 UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FIN GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLAC	AL	1	\$12,000.00	\$12,000.00	\$3,000.00	\$3,000.00	\$14,000.00	\$14,000.00
10 CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$6,555,00	\$6,555.00	\$8,868.00	\$8,868.00	\$3,800.00	\$3,800.00
11 FORT BEND COUNTY CONSTRUCTION PERMIT FOR CONSTRUCTION OF IMPROVEMENTS IN EXISTING RIGHT OF WAY, INCLUDES BONDS, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$3,725.00	\$3,725.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$23,683.20		\$24,127.60		\$63,309.00
ALTERNATE NO. 1 ITEMS								
1 8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1818	\$66.25	\$120,442.50	\$61.00	\$110,898.00	\$67.00	\$121,806.00
2 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	12179	\$59.85	\$728,913.15	\$57.88	\$704,920.52	\$58.00	\$706,382.00
3 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	10014	\$3.65	\$36,551.10	\$3.88	\$38,854.32	\$3.95	\$39,555.30
4 8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	15060	\$3.80	\$57,228.00	\$2.78	\$41,866.80	\$3.25	\$48,945.00
5 HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 8% B' WEIGHT (48 LBS/SY APPLICATION RATE), AS REQUIRED BY SOIL CONE AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	DITIONS	362	\$328.00	\$118,736.00	\$348.00	\$125,976.00	\$340.00	\$123,080.00
6 TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH COL COLOR PER DETAIL, COMPLETE IN PLACE	NTRASTING EA	2	\$1,384.00	\$2,768.00	\$1,688.00	\$3,376.00	\$1,600.00	\$3,200.00
7 CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$30.00	\$1,500.00	\$28.00	\$1,400.00	\$45.00	\$2,250.00
8 CONNECT PROPOSED 8" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$38.00	\$1,900.00	\$28.00	\$1,400.00	\$45.00	\$2,250.00
9 REMOVE AND RELOCATE EXISTING TYPE III BARRICADE,	EA	3	\$100.00	\$300.00	\$100.00	\$300.00	\$800.00	\$2,400.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES

TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

207.002 7.01				1) DIMAS BROS. CO	ONSTRUCTION	2) HURTADO CONSTR	PLICTION COMPANY	3) R CONSTRUCT	TON CIVIL LLC
ITEM DESCR	RIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 4" SQUARE DOUBLE REFLECTORIZED BL FOR FIRE HYDRANT LOCATION, COMPLE	UE TRAFFIC BUTTONS	EA	7	\$20.00	\$140.00	\$18.00	\$126.00	\$20.00	\$140.00
11 5' WIDE REINFORCED CONCRETE SIDEW.	ALK, COMPLETE IN PLACE	LF	2305	\$26.10	\$60,160.50	\$17.00	\$39,185.00	\$36.50	\$84,132.50
12 ROADWAY EXCAVATION, INCLUDES STRI AND RE-APPLICATION OF STRIPPINGS TO COMPLETE IN PLACE		CY	1765	\$5.00	\$8,825.00	\$4.00	\$7,060.00	\$5.25	\$9,266.25
13 REMOVE AND OFFSITE DISPOSAL OF EXI CONCRETE PAVEMENT, INCLUDES SUBG		SY	453	\$25.00	\$11,325.00	\$8.00	\$3,624.00	\$15.00	\$6,795.00
14 REMOVE AND OFFSITE DISPOSAL OF EXI CONCRETE CURB, COMPLETE IN PLACE	ISTING 6" REINFORCED	LF	410	\$4.00	\$1,640.00	\$2.00	\$820.00	\$2.00	\$820.00
15 REINFORCED CONCRETE PAVING HEADE	ER, COMPLETE IN PLACE	LF	32	\$32.00	\$1,024.00	\$28.00	\$896.00	\$20.00	\$640.00
16 PERMANENT TRAFFIC CONTROL DEVICE TRAFFIC BUTTONS, PAVEMENT STRIPING MEDIAN NOSES, STREET SIGNS, TRAFFIC	G, MARKERS, REFLECTIVE PAINT ON	LS	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
17 TEMPORARY TRAFFIC CONTROL DEVICE THE PROJECT, ALL PHASES, (FLAGGERS INSTALLATION, MAINTENANCE AND REMO	, CONES, ETC), PER TMUTCD, INCLUDES	LS	1	\$2,500.00	\$2,500.00	\$8.00	\$8.00	\$3,000.00	\$3,000.00
18 AS BUILT SURVEY OF ALL PAVEMENT HIG RESERVES, INCLUDES AN EXHIBIT CERTI LAND SURVEYOR IN THE STATE OF TEXA AS AN AUTOCAD FILE OF SURVEY, COMP	IFIED BY A REGISTERED PROFESSIONAL AS, AS WELL	LS	1	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
19 CITY OF ROSENBERG PERMIT FEE, COM	PLETE IN PLACE	LS	1	\$17,500.00	\$17,500.00	\$10,955.00	\$10,955.00	\$4,000.00	\$4,000.00
20 FORT BEND COUNTY CONSTRUCTION PE OF IMPROVEMENTS IN EXISTING RIGHT (COMPLETE IN PLACE		LS	1	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$3,500.00	\$3,500.00
ALTERNATE NO. 1 ITEMS SUBTOTAL:					\$1,181,453.25		\$1,105,865.64		\$1,172,162.05
ALTERNATE NO. 2 ITEMS									
1 12" PVC WATER LINE, C-900, DR 18, CLAS BEDDING AND BACKFILL, ALL DEPTHS, CO OF WATER ITEM NO. 1		LF	2289	\$69.80	\$159,772.20	\$68.00	\$155,652.00	\$65.00	\$148,785.00
2 12" PVC RESTRAINED JOINT WATER LINE RESTRAINED JOINT FITTINGS, BEDDING / IN PLACE, IN LIEU OF WATER ITEM NO. 4		LF	99	\$140.00	\$13,860.00	\$142.00	\$14,058.00	\$155.00	\$15,345.00
3 12" AWWA GATE VALVE AND BOX, COMPI IN LIEU OF WATER ITEM NO. 6	LETE IN PLACE,	EA	5	\$2,600.00	\$13,000.00	\$3,298.00	\$16,490.00	\$3,650.00	\$18,250.00
4 DRY AUGER FOR 12" WATER LINE, (EXCL INCLUDES BORE PITS, ALL DEPTHS, COM OF WATER ITEM NO. 13		LF	139	\$41.00	\$5,699.00	\$133.00	\$18,487.00	\$215.00	\$29,885.00
5 20" STEEL CASING FOR 12" WATER LINE CEMENT STABILIZED SAND), COMPLETE OF WATER ITEM NO. 14		LF	139	\$114.00	\$15,846.00	\$180.00	\$25,020.00	\$110.00	\$15,290.00
6 WET CONNECTION OF PROPOSED 12" W. INCLUDES FITTINGS, ALL ADAPTERS AND REMOVAL OF EXISTING PLUG & CLAMP A DEPTHS, COMPLETE IN PLACE, IN LIEU O	O CONNECTORS NECESSARY, AND NND 2" BLOW-OFF VALVE & BOX, ALL	EA	2	\$484.00	\$968.00	\$1,000.00	\$2,000.00	\$450.00	\$900.00
ALTERNATE NO. 2 ITEMS SUBTOTAL:					\$209,145.20		\$231,707.00		\$228,455.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

				1) DIMAS BROS.	CONSTRUCTION	2) HURTADO CONS	TRUCTION COMPANY	3) R CONSTRUC	CTION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY									
SUBTOTAL WATER ITEM	S				\$425,414.80		\$444,452.46		\$479,061.70
SUBTOTAL DRAINAGE FA	ACILITIES ITEMS				\$434,902.00		\$429,979.00		\$508,271.50
SUBTOTAL MISCELLANE	OUS ITEMS				\$23,683.20		\$24,127.60		\$63,309.00
TOTAL AMOUNT BASE E	ID				\$884,000.00		\$898,559.06		\$1,050,642.20
ALTERNATE NO. 1 ITEMS	3								
TOTAL AMOUNT BASE B	D				\$884,000.00		\$898,559.06		\$1,050,642.20
SUBTOTAL ALTERNATE	NO. 1 ITEMS				\$1,181,453.25		\$1,105,865.64		\$1,172,162.05
TOTAL AMOUNT INCLU	ING ALTERNATE NO. 1 ITEMS				\$2,065,453.25		\$2,004,424.70		\$2,222,804.25
ALTERNATE NO. 2 ITEMS	<u> </u>								
TOTAL AMOUNT BASE B	D				\$884,000.00		\$898,559.06		\$1,050,642.20
DEDUCT WATER ITEMS	TEM NO.1				-\$205,817.30		-\$189,074.00		-\$193,630.00
DEDUCT WATER ITEMS	TEM NO.4				-\$22,550.00		-\$25,300.00		-\$27,500.00
DEDUCT WATER ITEMS	TEM NO.6				-\$46,000.00		-\$49,675.00		-\$57,750.00
DEDUCT WATER ITEMS	TEM NO.13				-\$5,699.00		-\$18,765.00		-\$38,225.00
DEDUCT WATER ITEMS	TEM NO.14				-\$20,016.00		-\$26,132.00		-\$26,410.00
DEDUCT WATER ITEMS	TEM NO.17				-\$3,000.00		-\$2,000.00		-\$3,200.00
SUBTOTAL ALTERNATE	NO. 2 ITEMS				\$209,145.20		\$231,707.00		\$228,455.00
TOTAL AMOUNT INCLUD	ING ALTERNATE NO. 2 ITEMS				\$790,062.90		\$819,320.06		\$932,382.20

FRN F-1386 Page 6 of 11 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024

1931-9021D (9.2)

4) CROSTEX CONSTRUCTION INC.

Page 7 of 11

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
WAT	ERITEMS				
1	16" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2278	\$91.00	\$207,298.00
2	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	911	\$35.50	\$32,340.50
3	6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	20	\$23.00	\$460.00
4	16" PVC MECHANICAL RESTRAINED JOINT WATER LINE, C-900, DR 18, CL 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	110	\$215.00	\$23,650.00
5	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	3077	\$1.05	\$3,230.85
6	16" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	5	\$11,700.00	\$58,500.00
7	8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	5	\$1,740.00	\$8,700.00
8	6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	1	\$1,150.00	\$1,150.00
9	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$6,600.00	\$46,200.00
10	8" PLUG AND CLAMP, COMPLETE IN PLACE	EA	1	\$210.00	\$210.00
11	6" PLUG AND CLAMP, COMPLETE IN PLACE	EA	1	\$160.00	\$160.00
12	2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$1,925.00	\$3,850.00
13	DRY AUGER FOR 16" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	139	\$260.00	\$36,140.00
14	26° STEEL CASING FOR 16° WATER LINE (EXCLUDES CARRIER PIPE), (INCLUDES CEMENT STABILIZED SAND), COMPLETE IN PLACE	LF	139	\$220.00	\$30,580.00
15	DRY AUGER FOR 8° WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	103	\$170.00	\$17,510.00
16	16" STEEL CASING FOR 8" WATER LINE (EXCLUDES CARRIER PIPE), (INCLUDES CEMENT STABILIZED SAND), COMPLETE IN PLACE	LF	103	\$55.00	\$5,665.00
17	WET CONNECTION OF PROPOSED 16" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00
18	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$750.00	\$2,250.00
19	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00
WATI	ER ITEMS SUBTOTAL:				\$482,394.35
DRAI	NAGE FACILITIES ITEMS				
1	24" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1012	\$78.00	\$78,936.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232 CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024 LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

4) CROSTEX CONSTRUCTION INC.

				4) CRUSTEX CONSTI	RUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
2	30" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	708	\$98.00	\$69,384.00
3	36" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	87	\$136.00	\$11,832.00
4	72" STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	121	\$553.00	\$66,913.00
5	30° CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	82	\$150.00	\$12,300.00
6	$42^{\rm o}$ CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	87	\$200.00	\$17,400.00
7	$72^{\rm w}$ CORRUGATED GALVANIZED METAL PIPE, INCLUDES TIMBER BENT, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	99	\$320.00	\$31,680.00
8	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2155	\$8.00	\$17,240.00
9	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$3,800.00	\$45,600.00
10	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS. ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$13,000.00	\$26,000.00
11	STAGE I – REINFORCED CONCRETE TYPE "H-2" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$2,000.00	\$24,000.00
12	STAGE II – REINFORCED CONCRETE TYPE "H-2" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	12	\$1,200.00	\$14,400.00
13	5" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	112	\$125.00	\$14,000.00
14	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF STORM SEWER OUTFALL, INCLUDES DEWATERING AND ALL APPURTENANCES, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$5,000.00	\$15,000.00
15	8" BRICK PLUG FOR 72" RCP STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00
16	VIDEO INSPECTION AND CLEANING OF STORM SEWER, ALL SIZES, INCLUDES DIGITAL COPY, (AS DIRECTED BY THE ENGINEER) COMPLETE IN PLACE	LF	2196	\$0.50	\$1,098.00
17	ADDITIONAL COST FOR STORM SEWER BEDDING FOR UNSATISFACTORY SOIL CONDITIONS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	1000	\$20.00	\$20,000.00
18	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1000	\$25.00	\$25,000.00
19	REMOVE AND OFFSITE DISPOSAL OF EXISTING 24" STORM SEWER 8" BRICK WALL PLUG, COMPLETE IN PLACE	EA	2	\$250.00	\$500.00
20	DRY AUGER FOR 24" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	41	\$300.00	\$12,300.00
DRAI	NAGE FACILITIES ITEMS SUBTOTAL:				\$504,583.00

MISCELLANEOUS ITEMS

Page 8 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024

1931-9021D (9.2)

4) CROSTEX CONSTRUCTION INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
1	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	10920	\$1.80	\$19,656.00
2	INSTALL AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00
3	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
4	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	2	\$750.00	\$1,500.00
5	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	14	\$1,200.00	\$16,800.00
6	INLET PROTECTION BARRIER FOR STAGE II INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	12	\$40.00	\$480.00
7	HYDROMULCH SEEDING FOR R.O.W., INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$2,000.00	\$4,000.00
8	EXTRA CEMENT STABILIZED SAND PER GEOTECHNICAL REPORT (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$35.00	\$3,500.00
9	UTILITY SPOILS, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00
10	CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$4,586.65	\$4,586.65
11	FORT BEND COUNTY CONSTRUCTION PERMIT FOR CONSTRUCTION OF IMPROVEMENTS IN EXISTING RIGHT OF WAY, INCLUDES BONDS, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00
MISC	ELLANEOUS ITEMS SUBTOTAL:			, i	\$73,022.65
ALTE	RNATE NO. 1 ITEMS				
1	8" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1818	\$80.25	\$145,894.50
2	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	12179	\$68.75	\$837,306.25
3	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	10014	\$4.30	\$43,060.20
4	8" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	15060	\$4.30	\$64,758.00
5	HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION, 8% BY DRY WEIGHT (48 LBS/SY APPLICATION RATE), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	362	\$430.00	\$155,660.00
6	TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,150.00	\$4,300.00
7	CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$27.00	\$1,350.00
8	CONNECT PROPOSED 8" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	50	\$27.00	\$1,350.00
9	REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1,930.00	\$5,790.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

4) CROSTEX CONSTRUCTION INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
10	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	7	\$17.00	\$119.00
11	5' WIDE REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	LF	2305	\$45.00	\$103,725.00
12	ROADWAY EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	CY	1765	\$8.60	\$15,179.00
13	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" REINFORCED CONCRETE PAVEMENT, INCLUDES SUBGRADE, COMPLETE IN PLACE	SY	453	\$32.25	\$14,609.25
14	REMOVE AND OFFSITE DISPOSAL OF EXISTING 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	410	\$17.00	\$6,970.00
15	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	32	\$22.00	\$704.00
16	PERMANENT TRAFFIC CONTROL DEVICES FOR SPACEK ROAD, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$9,700.00	\$9,700.00
17	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, ALL PHASES, (FLAGGERS, CONES, ETC), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	LS	1	\$21,500.00	\$21,500.00
18	AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS AND LOW POINTS, RESERVES, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$5,400.00	\$5,400.00
19	CITY OF ROSENBERG PERMIT FEE, COMPLETE IN PLACE	LS	1	\$4,124.80	\$4,124.80
20	FORT BEND COUNTY CONSTRUCTION PERMIT FOR CONSTRUCTION OF IMPROVEMENTS IN EXISTING RIGHT OF WAY, INCLUDES BONDS, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00
ALTE	RNATE NO. 1 ITEMS SUBTOTAL:				\$1,444,000.00
ALTE	RNATE NO. 2 ITEMS				
1	12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 1	LF	2289	\$70.00	\$160,230.00
2	12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CL 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 4	LF	99	\$130.00	\$12,870.00
3	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 6	EA	5	\$3,500.00	\$17,500.00
4	DRY AUGER FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 13	LF	139	\$200.00	\$27,800.00
5	20" STEEL CASING FOR 12" WATER LINE (EXCLUDES CARRIER PIPE), (INCLUDES CEMENT STABILIZED SAND), COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 14	LF	139	\$110.00	\$15,290.00
6	WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE, IN LIEU OF WATER ITEM NO. 17	EA	2	\$1,250.00	\$2,500.00
ALTE	RNATE NO. 2 ITEMS SUBTOTAL:				\$236,190.00

FRN F-1386 Page 10 of 11

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, DRAINAGE FACILITIES, & ALTERNATE PAVING AND APPURTENANCES TO SERVE SPACEK PHASE 2 EXPANSION

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 232

CITY OF ROSENBERG, FORT BEND COUNTY, TEXAS

MAY 1, 2024

LJA ENGINEERING, INC. S. YOUNG

MAY 1, 2024 1931-9021D (9.2)

4) CROSTEX CONSTRUCTION INC.

BIDDING SUMMARY

SUBTOTAL WATER ITEMS SUBTOTAL DRAINAGE FACILITIES ITEMS \$504,583.00 SUBTOTAL MISCELLANEOUS ITEMS \$73,022.65

TOTAL AMOUNT BASE BID

ALTERNATE NO. 1 ITEMS

TOTAL AMOUNT BASE BID SUBTOTAL ALTERNATE NO. 1 ITEMS **TOTAL AMOUNT INCLUDING ALTERNATE NO. 1 ITEMS**

ALTERNATE NO. 2 ITEMS

TOTAL AMOUNT INCLUDING ALTERNATE NO. 2 ITEMS

TOTAL AMOUNT BASE BID \$1,060,000.00 DEDUCT WATER ITEMS ITEM NO.1 -\$207,298.00 DEDUCT WATER ITEMS ITEM NO.4 -\$23,650.00 DEDUCT WATER ITEMS ITEM NO.6 -\$58,500.00 DEDUCT WATER ITEMS ITEM NO.13 -\$36,140.00 DEDUCT WATER ITEMS ITEM NO.14 -\$30,580.00 DEDUCT WATER ITEMS ITEM NO.17 -\$4,000.00 SUBTOTAL ALTERNATE NO. 2 ITEMS \$236,190.00

\$482,394.35

\$1,060,000.00

\$1,060,000.00

\$1,444,000.00

\$2,504,000.00

\$936,022.00

FRN F-1386 Page 11 of 11 LJA Engineering, Inc.